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Lemniscate Curve if the polar equation has form as
r = acosnf orr = a sinnd wherea € R —{0}andn # landn € N

Example: Graph the Curve r? = 4cos 20

Solution:

e The curve is symmetric about the x-axis because (r, 8) on the graph then

r? = 4cos(—20) - r? = 4cos 26, So (r,—80) on the graph

e The curve is symmetric about the y-axis because (r, 8) on the graph then

r> = 4cos2(m—0) - r* =4cos2mcos20 + 4sin2mwsin20 - r? = 4cos 20, So
(r, Tt — 6) on the graph

Together, these two symmetries imply symmetry about the origin point
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